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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
{10 Digits) in the OMR Answer
Sheet.

2. Candidates are required to give their
answers in their own words as far
as practicable.

3. Figures in the right hand margin
“indicate full marks.

4. 15 minutes of extra time have been
allotted for the candidates lo read
the questions carefully.

5. This question booklet is divided into

two sections — Section-A and
Section-B.
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In Sectian-A, there are 10() objeciive
tupe: ¢recshiuns i eurh  ogrriing
1 markl out o which any
50 quesf: s arr to be answered
First SO answers unfl be evaluated
by the compuler an cuse maore thav
50 guestions arc answered Darken
the circle with blue / black ball
pen agamnst the cornect uptian on
OMR Answer sheet provialed to uou
Do not use whitener / liquid /
blade / nail cte. on OMR-sheet,
otherwise the result will bo
invalid.

In Section-B, there are 30 short
answer type questions (cach
currying 2 marksj, uut of which any
15 questions are to be ansuered.
Apart fram rhis, there are 8 long
answer type questions (euch
carrymg § marks), aut of whch any
4 questions are to be answered

Use of any clectronic appliunces is
stnetly prohibnted.
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50 x 1 =50
Question Nos

.1 to 100 haye four options,

out of which only one is correct. Answer any
S0 questions. You have to mark your select

ed option on the OMR-Sheet. 50x1=>50
2 .
| AN cos™! .l_—_l._ -
' 14+ x2 e » llx|s1)
A 1 '

(D)  tan"!'2x

(A)  sin”'{ax3 -3y B)  sin~}3x +4x°)

(C)  sin~!(3x - 4x3) D)  sin~}(3x° - 4x)
()

w B %

() —% o -%
q, sin(sec™! x+cosec”'x) =

® 2 - ® o

@ -1 by




nant

The value of the determi

(A) 23
c) 1

|RivTH

1 a b+c
1 b c+a
1 ¢ a+b

O &

(A) (l1+a+b+c)

c 1

1
1

The value of the determinant
1

(A) (1+a+b+c)

c 1
7 11 13
IR |17 19 23
29 31 37

& A &

(A) -36

(C) 20
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(B)
(D) ar
(B} 0
g
(D) ﬁﬁ
2 4].
7 9|35
g 16
® O
{D} Nonc Of these
(B]/' (a.+b+c]
o) O |
a b.+c
b c+alis
c a+b
(B) {a+b+c)
D) O
B) 36

D) 0 q T &
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The val 7 11 13
va 9
ue of the determinant é; .‘IE!I %g
(Al -36 B 36
(€1 2o D)  nonie of Lthese
9. T A=[ { “l],t"ﬁ At =
(Al 3A B 94
(€1 24 D} TH @ T
It A=[_} ‘}] then A =
(A} 3A (B) 4A
(Cl 2A (D) none of these
a h g
0 HEE | h b f|F¥
g9 [ ¢
(A} Famr wufom e By A IR
(C) Ushis: =R (D) ¥ A wE S
a h g
Matrix |1 b J | is
g [ ¢
{A} skew symmetric matrix ()  symmetne matrix
(C) unil matrix ) none of these
11.  3FSE THE xly o gdx =0 & 6A R
2 4
2 ¥ 2 y
A ek (B) ?—%_zk
It xy-=k D} 39 A 1 =@
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Solution of the differcntinl equation xdy +ydx =0 is

2 2 2 yz _
(A =k @ S5k
(C) xy=Kk (D) none of these
|
12, o wEe B2 o waw d
i
Y | X _ 1.
\) ==k B) ==k
(A ( )
(C) -§==k (D) ¥ | HI§ T
Solution of the differential equation ydx - xdy —2xdy =0 is
' Y
y_ x _
A <=k B) ==k
Y
(C) ﬁ =k (D) none of these

dy _ ' 3
13. aqaa—vfatﬁmawy_ommmmmﬁ

) eIde | _ B) eIde
©) eJPd.t (D) e[Ody
Integrating factor of the differential equation -3—% +Py=0Q is
w o elod B el

Pd;
c ofPe o eJod
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14. j‘!k’(

{A) O
(C) -1
s, Xzl
-5 — =
(A) [z y x)
-4 - =
(C) | x z ¥]
d 3
16 L (e¥ )=
6 d.\'[e )
3
(A) e*

d X o
17. dxﬂogs ) =

(A) 5%
(C) xog3
18. d_{.ix'(sizlux+ex]=
A) -— 12 +e*
sin“ x
(C)  —cosecxcotx+ e*

(3) 1

o)

—— -

B) |y x z]

— - -

D) |z x yl

IB) 3x%e*

2_x

(D) 3x‘e

(B) log3

‘D 1

(B) cosecx+e®

(D)  cosecx.cotx+e”
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22.

-b -8

Kx(igir

N0 | m

(€ _; (D) P

[rop2dx =

(A x+k (B) log2+k

(C)  xlog2 + k (D) x%log2+k
aqa@z & ®9 7 A & WFE Wt o 2

(A §+%+%.=0 . (B) -§-+%+%=1
© Z-Z-Z-0 (D) T VR I
Standard cquation of the plane in intercépt form is

o Fefin
c X % -Z-0 (@) noneof these
A fag d fag (-3, 4, -5 )M ¢

(A) 6 ,‘ B Sv2

(€ 50 (D) T W WIS
The distance of the point (-3, -4, -5 ) from the origin is

A) 6 | B) 5J2

(C) S0 (D) nenc of these




23, (-4,-3,7) 3 (-1, 1,-5) F D gad

(A) 12 {B) 13

D) vl A wE W

The distance between (-4,-3,7)and (-1, 1, -5 ) is

(C) 14

(€) 14 (D) none ol these

24, @R A 3R B W gt &, ot P(-’Bl)+p[%)_

(A) 0 (B) 1

c) -1 (D) %8 ¥ g el

If A and B be two events then P(-é')-{-P(i)::

B B
a4 O ‘o . B 1
(C) -1 o (D) none of these

25, de-(sinzx)=

. . , : 'I 2
(A) cos2x | G

(C) 2 sin2x (D) 2cos2x

26. a%c-{lanbch

: 2
sec” kx . (D) ksectkx
c =< . |

[ 12 i/ 32711 |{A)-9003-Tay, Page 9 of 32



28. \ dx =
(A) 4
c 3

€ 0

30. Isiqx, cosxdx=

(A) -21-sin2x+k

. 2
© SGEk

31, ad;(lﬂsﬁh

1

A 2/x
1

(C) %

d .
32. Ex—g(sanx] =

(A) 4 sin 2x
(C) -4sin2x

@ Frk

(D) iug[x + 2)+k

2
(BB,
1
(D) »
(B) -1
oy 2
(B) si; X _ 1

[D] ces x+k

N

(B)

(D)

o -

(B) 4 4cos®2x
(D) 2sin4x

[121/327 )1 [(A)-9003-les)

Page 10 of 32

4



dx
}AJ et (B} (x —a)e*™
(C) et (D) . S
34, f{%:i[_\-" ) =
3
[Mf/' 4x (B) 12x?
(C) | 2ix (D) 24
35. -(—i(i';[‘fx" tax -+ IJ =
I (B) _ 2xta
Vx4 ax+1 2x? +ax+1
(CJ 2x +a (D) 1
xZ+ax+1 i d 2Jx2+ax+1
36 (-!%(zei’l' ) =
(A) 2e”X (B) e
(C)  4e" (D)  2e*
37 %.(logx" )=
4, = B n
VR
1 n
© 4 o 2

38. 3% A-{a,be},B={1,2,3} IR f={(a,1),(b2),(c,2)} A [ FE GH & ?

(B) 3Hp. I &EI‘Eﬁ

(A) U 3
D) TFH IBEH

(C) Fohd HBIEH
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at type of a
I A=ta.bel=1123] and [={(a1),(b.2}h(e,2)} thed wha

function is f?

(A) onc-oncinto T (8) many-onc into

(C) many-onc onlo (D) onc-one onto

30, aRk [:R >R, T fx)=3x-4,8 [~l(x) FreAfafen 3§ 9 &0 7

Al S(x+4) @) 3x-4]
(C) 3x-4 (D) R
If f:R > Rsuch that f(x)=3x -4, then which of the following is f-llﬂ ?
(A 3(x+4) - B 3(x-4)
3 . 3
(C) 3x-4 (D) undefined

40. cosec'[- x)=

X -1 ’ _ P |
(A)/ 5—coscc X (B) x cnsec X
(é] coscc™x ' (D) - cosec™ \x
41, TR A:[“s" ?].B=[156 _?].ﬁﬁma W« MR
A) 1 | (B) Ve
) 4 . (D) T HFRE G

Ir 4=[45“ ?]Bz[sﬁ ?],whenA-B. the‘n the value of ais

(A) 1 B -1

C) 4 _ (D) nonc of these
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42, tan'i-=

(A) n
L
© 3 o I
43.  cos(scc”! x+comec™lx)=
(A) 1 B) -i
s
©c o ]
{D) B
0 —sin0
LU s i B
(A) cos 20 (B) 1
(€ O D) -1
45, cos2x dx -
J.('.sirlJc+nr:-:)sx]2
(A) 2log(sinx+cos x)+c¢ [B)/'mg{sinx+cosx)+c
{C) log(sinx- cosx)+c (D) —
sinx+cos x
46. tan'V3-cot™!(-/3)=
(A) = By 0
X - L
© -3 P
~ 111
47. A A=[1 1 1,7 A%-
111
(A) o 24 (B) 34
© 274 D) TR
_— .

I":—i"__"
(A)-9003-I(39)
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48.

49,

L1 1 ,
It A={1 1 1f,then A =

(A) 2A
(C) »7A
- —b
a.a-=
(A) ©

-
() |af?

(B) 34

(D) nonc of these

(B) 1

o) lal

TR |a)=2 3R Aa U I WRw R ot A WATE

(A) ]

< 2

B 4

2
e

(D) TE A HE T

- -
If |a]-2 and % a is a unit vector then A has the value

A) 1
Cc) 2

- - - .
xi+yj+zk &AM &

(A) x2 + y2 + 22

(C) 1|ﬂx+y-i-z

S R
The modulusof xi +y j+zkis

(A)  x2+y?+2?

(C) Jx+y+z

B 2

(D) none of these

(B) / Jx2+_:,r2+z:2
1

Vil ey + 22

(D)

B)  Yx'+y4z?

1

(D) '
Jx") +y? + 22

|




SI.

J' SCCX  gv=
secx+tanx
(A) tanxt+secx+k (B) tanx—secx+k
T Q) secx+k (D) tanx+k
1-cos2x
32. I] +Cc0s2x Tecosax ¥
(A) tanx+x+k (B~ tanx-x+k
() x-tan®x+k (D) tan-’25+k
53. Icut‘?x dx=
(A) cotx—x+k (B) 2cotxcasec’x+k
(C) —colx—-x+k (D) x+cotx+k
- (’ -
54, Ioaxdx =
3
(A) > By 9
9 g
© 3 o g
. 2 o _
55. [ (x +1)dx=
8 3 14
w £ m 2
© L D, 3
3 3
2
56. Jmi cos xdx=
Ay 0 |, 1
. 4
. _ D x
© -1 o 3
Page 15 of 32
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7.

S8.

59.

60.

61.

62.

P dx
Dx+1"
{M/ log2
(€] 2log?2

:’..rl.!

L logeot().do =

(A) -g—lugfz

(C) 2nlop2
x/2

I cosx|dx=
/2

(A} 2
) 0

n/n
J‘ / cosQ do=

0 cos0+sin0

(A) T
¢
€ 3
i—t—(mn x? )=
(A) sec x?
(C) 2x% sec? x?
4 Jeot x )=
dx

1

A 23(:01 X

2Jcot x

(B)
(1)

(Bl

(D}

B8)
(D}

(B)

(D]

(B)

(D)

£

N A

A

2Jnr:eant:c2 x2

secx”



d . -
63. {sin M3 - 4x3)); o,

(C) 3

64. *t—]ci—_{sinﬁ)a
(A)  cosVx
1
C —,
(€) /JT cosvx

Ao =1

1
A
(A) o
1 1
C =,
(C) T

d | lim x"-a® | _
660. dx{x"*“—__x—q }»_

67. %{sin’l Jx +cos™ J— }

a3
c 1

(D)

(D)

(B)

(D)

cos Jx

.CO8 Jx
QJJC

0

Jx.

(S

[121/327]1 [(A)-9003-Tay
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(A) loglx+1l+k

(C) log jx-1]+k

B) -logll+x|+k

(D) logx+k

69. IHEFA THEFW (_‘111}34.2(!1&)34_9%}: sinx W &

(A) 3

c 2
'

[
dx?

dx

B 4

(D) iﬁﬁééﬁqﬁ

a2y Y (dy)®
The order of the differcntial equation [ yJ +2[—-ry.] +9y = sinxis

3

3
C) Z2+x+k

dx2 dx

(B) 4

(D) none of these

(B) Z--2x+k

(D) %?—x+k

V] ﬂ)z

1 X+

x41
71. ﬂf's'mat],m:a:l HWI" a% x+ 02 1 |=0 @ x=
o .

(A) O

C)

(B) W,

(D) 'Fﬁ?#ﬂﬁfwﬁ

[121/327]1
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3 X+ m w?
ITwzl, w?=1 nndl ' x4+ 1 =0 .
mz , . then x =
[L}]
{A) 0
(13) "
(C) 0?2

(") nonc of these

72, _jensa -~ si s \
R A—[sinu cggg] AHIT A+A'=!2, o u=

(A) = ® X
© 3 . () 2
If a=[Sone “cons | and A+ A=1,, "16;‘ s
’ (A n ® - 3
© 3 | ©
73.  AUH Al HMEE E A A 44 3G E G
'IAJ/ i s . (B faum m&l‘q A
i) v aTeE (D) ¥rd g

A is a square matrix, then A + A’ is necessarily

(A) a symmetric matrix . (B) a skew symi~ctric matrix
(C)  a unit matrix (D) -azero matrix
o ' 1 0] a7 42 Al e

74, AR A=B‘ ?] B=[2 1] 3R 47 =B, ar A=

(A) -1 o B 1
© 4 : | ‘(D} Sﬂﬁﬁaﬁ%qﬁ
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75.

76.

77.

1 O
el ol 5] e

Al -1 B 1

< A | (D)  none of these
afz ,1=[é ?] a

Ay AW T ' (B) |Al=0

€ Al e A g D) T Q&g
If A=Ll} ?], then

(A) A lexists ' (B} - |A|=0

(C) A ' docs not exist ‘ . (D) None of these
el 791 ™ w9 318 ofew = e &

(A) xl | (B) 2

@ 3 - (o) A

The number of unit vectbr(s] perpendicular to a plane is

(A1 . (B) 2

) 3 | (D) infinite

T a=27f+2k R B=vie -k, @

M  a.b=5 B] PE’.E:-S
C a.b=0 0) = Qi A



78.

79.

80.

81.

82.

- —
C] a.b=0
- —
[(l a ﬂ]ﬂ
A
€ a
- -»
i x k =
(A) 1
r—-

-
(C) j
-  —-p
axb=

- -
(C) a.b |
l«a""]'.l,vc:
0
(A) e
(C) e—1

(A) -gin3x
€ - 3s8in3x

- —
(B) a.b=-5

{D) none of thl’.!sc

Dy 1-e

B 1
(D) 0

[—] 2 1/327 |1 @-9003-1[39}
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83. EC!;(J;]=
A ! 1
( 1 7 (13) o x
o 2.3/2
849. cos ' 2x)+sin”H(2x)= i, 2x €| = 1, 1
a n
w B 3
(C) n oy O
A
85. sin"!{-x}=
(A) % ~sin”' x (B) sin”! x
(C) -sin”'x D) Za+sintx
86. cot ™} Do (x> 0)
X
(Al -cot”lx B tanl
(C) tan | x (D) cot 1 x
10 2|_
87. I35 7|7
(A) 140 (B) 70
(C) 35 : (D) O
1 O 0 1| _
88. [0 1]*[1 0] =
0 0 2
(A} [g 2| ® |2 o]
2 2] (1 1
(C) [2 2 e 1]
-Pa_ge. 22 of 32
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89. %‘5‘]:

5 B)  xgx-!
5.!'
< log 5 D) 5%.10g, 5
(L n
9. [letxidxs [T alxidx «
A 2 ox) dx a
“ (B) 2];1 p(x) dx
€ o o 1
°l. W al1b.Ma.be

(A1 B) -1

€ o (D) ¥ | F 7
If 213, then a.3=

(A} 1 . B -1

iC) O (D) None of these
- - =

92. i.(jxk)=
(A) O B) 1
Cc -1 D) 2
93. Ilogx&= ‘
(A) %+k (B) xlogx+k
(C) xlogx-x+k (D) xlogx+x+k
(A)-9003-I39) Page 23 of 32
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al

99, 5 -
(A) O B 1

c -1 o R

. 107 S &, @

TH WA @I x, y 3R 2 387 ¥y faon & W FRE , 3T

gin2 a+sin? p+si0

5.
2.=1

(A) cos” « +c092|1+ cos? ¥+1=0 - (B
2=
2 4+ cos” [} +C€OS r=1

y and z uxes

(C)  cos?a+cos?+cos?y=1o (D)  cos

If a line makes angles a, fand y with the positive directions of x
respectvely, then

(A) cos2a+(.:03213+c032‘r+1=0 ©(B) siqza+sin2ﬁ+sill2?:1
(€ cos? a+cos” B+cos? y=2 (D) - cos? o +cos? [3+t3052 y=1

96. §XCT W@ 2x=8y=-2z AN 6x=-y=-4z % 9% H PO €

w5 B 0
© g . o g

The angle between the straight lincs 2x=3y=-z and 6x=— y=-4zis

w5 B o

© F o %

97. AR A, B R C AR @riT G &,

(A), P(ABC)=P(A}+P(B)+P(C)
(B) P(ABC)=P(A)-P(B)-P(C)
(C) P(ABC)=P(A).P(B).P(C)

(D) ¥ ¥ ®IE gl

[ 121/327 ] 1 (A)-9003-Iay) Pagc.




IfA, Band Care three independent events then
(A) PIABC) = P(AYy+ pruy+ PLC)

(B) PLABC)= PlAy-p(m)y-P(C)

(C)  PABC)=P(A).p(R).P(C)

(D) none of these

98. P(A)-l-.n(‘q’}:

(A) 0 _!?" |
© -1 O P(S)

99. 1-P(A'NB')=
(A) *’:'(f‘,’!_ll'WBlL (B) P[AUB)
(©) P{lz‘{) (D)  P(B)
100. z=3x44ya?iaﬁ%nrn'=r'

W o 9o x+y <4

x20,y20

€
A) O B 12
c 16 : D) - T P T
The maxlmum vaJue of Z=3x+4y
subject tq constramts x+ys4

o x 20,y 20
® 0 B) 12
A ' (D) none of these
(C) 16° -

[121/327]1 Page 250132



g - ¥ ) BECTION - B
F"‘]:!T-l’ﬁ'qm / Short Answer Type Questions
BT wear 18 30%@3?#?#::#:?#&?? 15 ¥yt & aav &1 wew & fy

2 37 Fife & 15x2 =30
Question Nos. ] to 30 are Short Answer Type. Answer any 15 questions. Each question
carries 2 marks. *15x2=30

2

1. JHTHAT B Icoszxdx.

Intcgratc Icosz xdx.
2

Y e, ST y = sin(log X).

0

dx
. dy o
Find —=, when Y = sin(log x).
-~ dx
2

7 & &1 ady + ydx=xy.dy.
Solve : xdy rydx=xy.dy.
e W Ji-sin2x dx.

3./

4.
Integrate IJl-—sian dx.
2
cosliogx) g, 1 A TR X
5. = |

ecOSllng’ d
. it M=o X
Find the vadlue of Io x

ﬂ/zlogtanxdx =0.

fag #< @ ]



10,

11?

12.

(llf F
W,
kil  J= v‘f‘—uuw 0, 1;—aqin u,
' o 2
S - 17} ‘
Find == . i
N de o When xeaeos? o, y=asin?o,
FH %4y on | .
N =3 & g (1,42 WA Pt 2
Fi .
nd the slope at the point ll.ﬁ] of the curve xz+:;2=3.
P !
RS (11’-1: b-¢ c-a
b-c c-a a-b %1 T FrETet | 2
a a=-b ph-e

n::-n

Evaluate the determinant ?1:2 2:; ;:
c-u a-b b-

2

we #t % wiwer (5, - q, 2)3ﬁt(2 1,-3) UH T W & &)

Show that the vectors ( 5, - 4, 2)and (2,1, -3 ) arc perpcndlculdr Lo one

another,

~ 7 ~ ™ — - . = N - - ‘

axb e, SEI S q=27-3k, b=3i+4j. 2
. - - - . -

Find a x b, where a =2_1"—3Jc, b=3i *'4__;-

~ ' 3 . _n 5 .
af @ =(2.3.-5) 3R B =(2,2,2), A AW a AT b F I H OO0 IR 2

—
Il @=(23-5) and b =(2,2.2); then find the angle between the vectors

— - -
a and b.
! 23 11 12
fgz &% s |46 20 26 2
65 45 20
2 3 4
that |46 '
' Prove 65 45 20
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M'/-g-!i freel w1 y=JainJ;'..
x

FFind %% . when quninJ; .

' 2

fu ; sin” x
15, ZY Faml wg oy 3SX
d.\' y Jcosx
s 2
Find _c_ly_‘ when y=m.
dx COB X

16./3111;15'6’[7-[ f:R->R onto & “EfE flx)=2x ? HROT |

| g

Is the function f:R -» R onto function where [ (x)=2x ? Give reasons.

17. fag =ifs sin'l-—J-‘E—=tan'

a_Vdx o

Prove that sin
_ . Jx+a

18. fae=tifs mn[isin-’-&_

2 l+x

Prove that tan —!-sil‘l_1 2x
2 1+ x

19. A fepret Jim Z"

ft—o
r=lft

lim r
, Evaluate "“"”Zn
rm]

20.

Find the arca between the x-axis and the curve y =sinx, from x=0 to x = =.

+lCOS

2

+1

2

Cos

-11-x

2

1+ x

-11-x

2

l—_x2

1+ x2

]__Qx
lx

P ATTH y=sinx F AT x=0F x= n TH & &I N YAt (Aarei |

’



21,

22.

23.

2?%/

SR

Solve .

ANy dx tanxdy-p

lanydy l““xdy:()

(51 :
. & ; ytl+-t‘y}dx—xdu=0
olve: y1 *xyldx - xily = o

. d
E . ‘—!—"-I-l:-.ex"'y
dx .

Solve : %i‘_'.,.l:_.exi-y.
ﬁq . - -
K e (a+b).(z-]','] —aZ_p?

-
Prove that (a+b).(a~5) = o2 - p?

x? y

' 1
. ARy A=[x ;I;J.ﬂ’t AA' T FfA

2

1 1
If A={ x y |, then find AA".
x% y :

T x A9 T Fif

(5369

Find the value of x from the following :

(5 369

16 9 7
23 16 7 | @AM 7w

32 19 13

S IR(ET

16 9 7
23 16 7
32 19 13

Evaluate the determinant
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28.

29,

30.

W AT 31 ¥ 38 It wwdg wyw &
s 3% fagife &)

HE WA I x AR y--?nl'l‘ﬁ ) TR Y 4w oo a5t 3T 60° @l Hiv
R RPN e s F2am & que faern @ st 2 2

% angles of 45° and 60" with the positive direction of the

N yeaxes respectively. What angle does it muke with the positive dircction of
the 7-axis ?

A straight line maoke

T F WM T o FRvE x, y 3t 2 3wl afagTe O 3, 4 AR
- 5%

2
Find the cquation of the Plane whosc intercepts on the axes of x, y and z are
respectively 3, 4 snd - 5, _
Rl mm-:%. P(B)-% GL) Pmnmpl?,?ﬁ p(%:) T p[..g_) iceael 2

It A=, pi)-Land PAR B)=2. then find P(i‘-',.) and p[%).
T Wi / Long Answer 'l;ype Questions

!W#ﬁféf4nﬁﬁ;milm$ﬁq

: 4x5=20
Question Nos. 3] o 38 are Long Answar Type questions. Answer any 4 questions, Each
question carries 5 marks. . 4x5=20
31. Ty l:m’lxri.'m't_y_-i-lan"z;%,ﬁﬁ'fﬂz?ﬁféﬁ Yz+ ze+ xy=1, 9

If tan™! x+tan~' y + tan™! z=-%. then prove that yz+ zx + xy =1,
(b + c:]2 a” a’
32 /ES FER | B2 (csaf b2 5

_/ . 2 c? (a+ b]2

L+ c]g a2 a2

. . 2

Factorize | b°> (c+a® b°
o2 c? (a+ l:!]2

[121/327 1T [(A)-9003-1a9) | = Page 30 of 32
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33

T ""'?i_"“. Fa ABY !B

Prove that (ABY '=8'A""
R V) S ,
. E-j._ , ey Iy + U =]
Find Sj—g when x¥ 4 Y=
dx’ y
15 @A FT Itan"‘xdx
a3
Integrate Il:m xdx
36

Y ? 2. dy
i T -
X Y }dx 2xy

Find the image of the point [ 3. 1, - 4 ) with respect to the plune
3x .+ 4y

Solve - (x7 - 92]% = 2xy
37
S5z=2
3§  HMEHTHH T3 “ARAE
£ - ox + 10y
Fafd v+ 2y <120
v+ w260
x-2420
x,y20
W (A)-9003- 1o

“',-'{':
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Muaximize and minimize Z - Sx 10y

subject (o X+2y<120

X y>60
X 2y>0

X, yz20.
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